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(f) Give the numerical values of the bandwidth of the three lowest bands.
band 1:3.26
band 2: 11.01
band 3: 20.29

(g) Give the numerical values of the energy gaps between the first and second, and
between the second and third bands.

first gap: 3.81

second gap: 4.37

(h) Find numerical values of m*/m at the bottom and top of the first and second bands
(m*=effective mass, m=bare mass).

bottom of band 1: 1.09

top of band 1: -0.26

bottom of band 2: 0.18
top of band 2: -0.073

The following charge densities are for:
Bottom of band 1 Top of band 1
Bottom of band 2 Top of band 2

Bottom of band 3
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